

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Due Date: Upon Receipt

Invoice Date:

08/15/2022 01:00 PM | Team A Travel to Vegas

Shipping Address: Red Rock Resort

Las Vegas

PO:

08/16/2022 08:00 AM | Install Truss Covers 08/17/2022 08:00 AM | Install Truss Covers 08/17/2022 08:00 AM | Team B Travel to

Salesperson: Angela Murelli

08/18/2022 08:00 AM | Full Install Begins

08/20/2022 05:00 PM | Event

Vegas

08/21/2022 06:00 AM | Strike Red Rock

08/22/2022 08:00 AM | Strike Pavillion

08/23/2022 09:00 AM | Travel back to LA

Description		Qtty	Price		Total
Changes 8.18					
	Barback - Moscow - Silver W/ Glass Shelves & Base NO BASES PAINTED GOLD	4	\$200.00	Т	\$800.00
	Barback - Moscow - Gold W/ Glass Shelves & Base NO BASE	1	\$200.00	Т	\$200.00
			Total Changes 8	3.18	\$1,000.00
Addition 8.18					
	Table Cloth 146"D - Ivory Velvet	2	\$550.00	Т	\$1,100.00
	Wall Mirrors - Wood Frame gold frame With L Brackets	2	\$350.00	T	\$700.00
H	Dining Table - Lyon - White Wash Wood	3	\$350.00	Т	\$1,050.00
			Total Addition 8	3.18	\$2,850.00
Addition					
	New York DJ Booth - Ivory Frame Giselle Ivory Channeled Front	1	\$475.00	Т	\$475.00
			Total Addition		\$475.00
Cocktails - Hallw	vay				
	Perimeter Drape: White Chiffon (Instock) approx 600' x 20'-24'H drape for the perimeter of the hallway outside Red Rock Ballroom	1	\$21,000.00	Т	\$21,000.00
	Perimeter Valance - White Dupioni	1	\$3,850.00	Т	\$3,850.00

Club & Lounge	Love Seat White Boucle 6' Chairs - Dubai - Club Chair White Boucle	6	\$400.00	T	\$1,600.00
	Chairs - Dubai - Club Chair White Boucle	6	\$200.00		
Paris Coffee Ta				T	\$1,200.00
†	ble - Gold w. Mirror	4	\$225.00	Т	\$900.00
Madrid Accent	Table - Fuji Marble Top	4	\$100.00	T	\$400.00
Ottoman Pod 18 Off white boucle	B"D	10	\$45.00	Т	\$450.00
Accent Pillows for inside and outsi		32	\$24.00	T	\$768.00
		Total	Cocktails - Hally	way	\$30,168.00
Cocktails Outside					
Sedona Bar - Liç	ght Marble 6'L	2	\$600.00	Т	\$1,200.00
Madrid Barback 40"W x 15"L x 8'H;	a - Gold	3	\$200.00	T	\$600.00
Las Vegas Rour	nd Booth 2pc Booths - Las Vegas - Acrylic Legs - Off White Boucle Cover	2	\$750.00	T	\$1,500.00
Coffee Table (N	esting) - GOLD	2	\$275.00	T	\$550.00
Ottoman Pod 18 Ivory Boucle	3"D	6	\$45.00	T	\$270.00
		Tot	Total Cocktails Outside		\$4,120.00
Cocktails - Pavillion Ballroom					
-	e - White Chiffon (Instock) I'H perimeter draping	1	\$9,500.00	T	\$9,500.00

Description		Qtty	Price		Total
	Boston 24'D Round Bar (10pcs) ivory with hand painted details	8	\$850.00	Т	\$6,800.00
	Buenos Aires Sofa (3pcs) - Taupe Grey Left arm, Center, Right Arm pieces only	4	\$650.00	Т	\$2,600.00
	Moscow Coffee Table - Gold Frame w. Mirror	4	\$225.00	Т	\$900.00
	Madrid Accent Table - Giusti Glass Top	4	\$100.00	Т	\$400.00
H	Tokyo Accent Chair - Gold Frame NEW COVER - Taupe Grey Velvet	15	\$65.00	Т	\$975.00
H	Tokyo Accent Chair - Gold Frame NEW COVER - Taupe Grey Velvet	1	\$65.00	T	\$65.00
	Ottomans - Standard Pod	8	\$45.00	T	\$360.00
	Accent Pillows - Assorted	20	\$25.00	T	\$500.00
	-	Total Cocktails	- Pavillion Ballro	om	\$24,600.00
Reception - Red	Rock Ballroom				
	Perimeter Drape - Two Tone Chiffon (NEW) approx 900' x 20'-24'H perimeter drapery for the red rock ballroom	1	\$45,500.00	Т	\$45,500.00
	Perimeter Valance - Ivory Dupioni	1	\$4,000.00	Т	\$4,000.00
	Stage Backdrop - Hand Painted Panels TBD Measurements; (3) arches wrapped in opaque Dupioni fabric with a hand painted magnolia design Florist to cover with florals etc	3	\$3,750.00	T	\$11,250.00
	Ivory Dupioni Stage Front - 60' x 30"H	1	\$3,950.00		\$3,950.00
	Truss Cover 20.5" x 20.5" - IVORY approx 2405ft of trussing 20.5" x 20.5"	1	\$24,050.00	T	\$24,050.00
	Truss Cover 12" x 12" - IVORY approx 930ft of trussing 12" x 12"	1	\$8,150.00	Т	\$8,150.00
100	Versailles Chandelier Large - Single Tier 80"W x 80"H - Weight 185 Lb - 2,650 Watts	3	\$1,600.00	Т	\$4,800.00

Description		Qtty	Price		Total
* 11.23	Versailles Chandelier Large - Double Tier 80"W x 80"H - 190 Lb - 2,950 Watts	3	\$1,800.00	Т	\$5,400.00
	Versailles Chandelier Medium - Single Tier 53"W x 57"H - 100 lb - 1,2275 watts	11	\$1,250.00	Т	\$13,750.00
	Versailles Chandelier Medium - Double Tier 53"W x 63"H - Weight 106 Lb - 1,175 Watts	10	\$1,450.00	T	\$14,500.00
ar the	Versailles Chandelier Small - Single Tier 44"W x 47"H - 70 Lb - 1,025 watts	6	\$850.00	T	\$5,100.00
a Clas	Versailles Chandelier Small - Double Tier 44"W x 53"H - Weight 80 Lb - 950 watts	4	\$950.00	T	\$3,800.00
	Subrental: Antique Crystal Chandeliers Large 30"D x 60"H	4	\$1,500.00	Т	\$6,000.00
	New York Bar 8'L - Ivory Channeled Front frame color to match bar front	6	\$1,875.00	Т	\$11,250.00
	Moscow Barback - Gold	8	\$200.00	Т	\$1,600.00
	Straight Barback 8'L - Gold for the (2) 16'L bars	2	\$275.00	Т	\$550.00
	Moscow Sofa 8'L - Ivory Velvet	4	\$450.00	Т	\$1,800.00
	Moscow Club Chair - Ivory Velvet	4	\$225.00	T	\$900.00
	Montreal Coffee Table - Gold w. Glass	4	\$250.00	Т	\$1,000.00
	Madrid Accent Table - Astrew Marble Top	4	\$100.00	Т	\$400.00
	Hollywood Ottoman - Gold w.Off White	8	\$65.00	Т	\$520.00

Dance Floor 32'D Round - Taupe	Description		Qtty	Price		Total
Total Reception - Red Rock Ballroom \$177,170.00		Accent Pillows - Assorted	24	\$25.00	Т	\$600.00
Total Reception - Red Rock Ballroom \$177,170.00		Dance Floor 32'D Round - Taupe	1	\$7,500.00	Т	\$7,500.00
Wall Mirrors - Gold Frame for sandra to hand paint menu		Buenos Aires Console Table - Service Station	4	\$200.00	Т	\$800.00
Wall Mirrors - Gold Frame for sandra to hand paint menu			Total Reception	- Red Rock Ballro	om	\$177,170.00
Perimeter Drape - Moss Green Velvet 2 \$3,750.00 T \$7,500.00	Late Night Snac	cks Reveal				
Boston Buffet Station - Moss Green			2	\$350.00	Т	\$700.00
NEW Monaco Top Hat Channeled - Velvet		Perimeter Drape - Moss Green Velvet	2	\$3,750.00	Т	\$7,500.00
Madrid Accent Table - Fuji Marble Top 4 \$100.00 T \$400.00 Madrid Accent Table - Portrack Marble Top 4 \$100.00 T \$400.00 Total Late Night Snacks Reveal \$18,100.00 Services Installers: Travel Monday 6 \$450.00 \$2,700.00 Installers: Install Tuesday & Wednesday 6 \$1,000.00 \$6,000.00 Installers: Travel Wednesday 8 \$450.00 \$3,600.00 Installers: Install Thursday 14 \$650.00 \$9,100.00 Installers: Install Friday 14 \$650.00 \$9,100.00 Installers: Install Saturday 10 \$650.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday			4	\$650.00	Т	\$2,600.00
Madrid Accent Table - Portrack Marble Top		NEW Monaco Top Hat Channeled - Velvet	1	\$6,500.00	Т	\$6,500.00
Total Late Night Snacks Reveal \$18,100.00		Madrid Accent Table - Fuji Marble Top	4	\$100.00	Т	\$400.00
Installers: Travel Monday 6 \$450.00 \$2,700.00 Installers: Install Tuesday & Wednesday 6 \$1,000.00 \$6,000.00 Installers: Travel Wednesday 8 \$450.00 \$3,600.00 Installers: Install Thursday 14 \$650.00 \$9,100.00 Installers: Install Friday 14 \$650.00 \$9,100.00 Installers: Install Saturday 10 \$650.00 \$6,500.00 Installers: Stand By 4 \$350.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$9,100.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00 T		Madrid Accent Table - Portrack Marble Top	4	\$100.00	Т	\$400.00
Installers: Travel Monday 6 \$450.00 \$2,700.00 Installers: Install Tuesday & Wednesday 6 \$1,000.00 \$6,000.00 Installers: Travel Wednesday 8 \$450.00 \$3,600.00 Installers: Install Thursday 14 \$650.00 \$9,100.00 Installers: Install Friday 14 \$650.00 \$9,100.00 Installers: Install Saturday 10 \$650.00 \$6,500.00 Installers: Stand By 4 \$350.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00			Total Late	Night Snacks Rev	/eal	\$18,100.00
Installers: Install Tuesday & Wednesday 6 \$1,000.00 \$6,000.00 Installers: Travel Wednesday 8 \$450.00 \$3,600.00 Installers: Install Thursday 14 \$650.00 \$9,100.00 Installers: Install Friday 14 \$650.00 \$9,100.00 Installers: Install Saturday 10 \$650.00 \$6,500.00 Installers: Stand By 4 \$350.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00	Services					
Installers: Travel Wednesday 8 \$450.00 \$3,600.00 Installers: Install Thursday 14 \$650.00 \$9,100.00 Installers: Install Friday 14 \$650.00 \$9,100.00 Installers: Install Saturday 10 \$650.00 \$6,500.00 Installers: Stand By 4 \$350.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Travel Monday	6	\$450.00		\$2,700.00
Installers: Install Thursday 14 \$650.00 \$9,100.00 Installers: Install Friday 14 \$650.00 \$9,100.00 Installers: Install Saturday 10 \$650.00 \$6,500.00 Installers: Stand By 4 \$350.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Install Tuesday & Wednesday	6	\$1,000.00		\$6,000.00
Installers: Install Friday 14 \$650.00 \$9,100.00 Installers: Install Saturday 10 \$650.00 \$6,500.00 Installers: Stand By 4 \$350.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Travel Wednesday	8	\$450.00		\$3,600.00
Installers: Install Saturday 10 \$650.00 \$6,500.00 Installers: Stand By 4 \$350.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Install Thursday	14	\$650.00		\$9,100.00
Installers: Stand By 4 \$350.00 \$1,400.00 Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Install Friday	14	\$650.00		\$9,100.00
Installers: Strike Sunday 14 \$650.00 \$9,100.00 Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Install Saturday	10	\$650.00		\$6,500.00
Installers: Strike Monday 14 \$650.00 \$9,100.00 Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Stand By	4	\$350.00		\$1,400.00
Installers: Travel Tuesday 14 \$450.00 \$6,300.00 Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Strike Sunday	14	\$650.00		\$9,100.00
Trucking: 53'L 4 \$6,500.00 T \$26,000.00 Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Strike Monday	14	\$650.00		\$9,100.00
Trucking: 24'L Box Truck 3 \$2,800.00 T \$8,400.00		Installers: Travel Tuesday	14	\$450.00		\$6,300.00
<u> </u>		Trucking: 53'L	4	\$6,500.00	Т	\$26,000.00
Trucking: Dontol Cor. 1 01.050.00 T 01.050.00		Trucking: 24'L Box Truck	3	\$2,800.00	Т	\$8,400.00
Trucking: Rental Car I \$1,250.00 I \$1,250.00		Trucking: Rental Car	1	\$1,250.00	T	\$1,250.00

Description		Qtty	Price	Total	
	Accommodations: Crew Perdiem	14	\$483.00	\$6,762.00	
	Accommodations: Crew Perdiem	6	\$138.00	\$828.00	
	Manager: Travel Flight	1	\$1,500.00	\$1,500.00	
	Manager: Onsite	1	\$4,250.00	\$4,250.00	
	Manager: Perdiem	1	\$483.00	\$483.00	
	Manager: Layouts & Design	1	\$2,785.00	\$2,785.00	
	PreProduction: Warehouse Rush Fees	1	\$8,000.00	\$8,000.00	
	Supplies: Misc	1	\$1,500.00	\$1,500.00	
	Dance Floor: Labor & Delivery	1	\$1,750.00	\$1,750.00	
	Subrental: Labor & Delivery	1	\$500.00	\$500.00	
	Upholstery: Labor and Supplies	1	\$1,800.00	\$1,800.00	
	Cancelled: Monaco Top Hat charged at cost price instead of rental/new pricing	1	\$3,750.00	\$3,750.00	
	Custom Artwork : Hand Painting	1	\$4,500.00	\$4,500.00	
Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it			Total Products:	\$258,483.00 \$136,958.00	
			Total Labor/Services/Misc:		
		Ta	xes (tax excempt): Discounts:	\$0.00 (\$0.00)	
Notes			Discounts: Total:	(\$0.00)	
			Payments:	(\$395,441.00)	
			Balance:	\$0.00	